
Functions & Graphs 
Higher Maths Exam Questions 

Source: 2019 P1 Q10 Higher Maths 
(1) 

Answers: (𝑎𝑎) 𝑎𝑎 = 3    (𝑏𝑏) 𝑘𝑘 = −2 



Source: 2019 P1 Q12 Higher Maths 
 
(2) 

 
 
 
 
 
 
 
 

Answers:     (𝑎𝑎) 1
�5−𝑥𝑥

      �𝑏𝑏�  𝑥𝑥 ≥ 5 
 

Source: 2019 P2 Q5 Higher Maths 
 
(3) 

 
 
 
 
 
 
 
 
 
 
 

Answer:  
 
 
 
 
 
 
 
 



 

Source: 2019 P2 Q12 Higher Maths 
 
(4) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Answers:     𝑎𝑎 = 1
4

    𝑏𝑏 = 64 
 

 

 

Source: 2018 P1 Q2 Higher Maths 
 
(5) 

 
 
 
 
 
 

Answer:   𝑔𝑔−1(𝑥𝑥) = 5(𝑥𝑥 + 4) 
 



 

Source: 2018 P1 Q15 Higher Maths 
 
(6) 

 
 
 
 
 
 
 
 

Answer:  
 
 
 
 
 
 
 
 
 
 
 
 

 

 

Source: 2018 P2 Q6 Higher Maths 
 
(7) 

 
 
 
 
 
 
 

Answers: (𝑎𝑎) (𝑖𝑖) 3 + 𝑐𝑐𝑐𝑐𝑐𝑐2𝑥𝑥   (𝑖𝑖𝑖𝑖)  2(3 + 𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐)       (𝑏𝑏) 𝑥𝑥 = 𝜋𝜋 
 



 

Source: 2017 P1 Q1 Higher Maths 
 
(8) 

 
 
 
 
 

Answers: (𝑎𝑎) 10   (𝑏𝑏) 2𝑐𝑐𝑐𝑐𝑐𝑐5𝑥𝑥 
 

 

 

Source: 2017 P1 Q6 Higher Maths 
 
(9) 

 
 
 
 

Answer:  ℎ−1(𝑥𝑥) =  √𝑥𝑥 − 73      𝑜𝑜𝑜𝑜    (𝑥𝑥 − 7)
1
3 

 
 

 

Source: 2016 P1 Q6 Higher Maths 
 
(10) 

 
 
 
 
 
 

Answers:  (𝑎𝑎)  𝑔𝑔−1(𝑥𝑥) = 𝑥𝑥−5
3

      (𝑏𝑏) 𝑔𝑔−1(7) = 2 
 

 

 

 



 

Source: 2017 P1 Q15a Higher Maths 
 
(11) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Answers: (𝑎𝑎) 𝑎𝑎 = −5  𝑏𝑏 = 3     (𝑏𝑏) 10     (𝑐𝑐) − 6 
 

 

 



Source: 2016 P1 Q10 Higher Maths 
 
(12) 

 
 
 
 
 
 
 
 
 
 

Answer:   
 
 
 
 
 
 
 
 
 

 

Source: 2016 P1 Q12 Higher Maths 
 
(13) 

 
 
 
 
 
 
 
 

Answers:    (𝑎𝑎)  𝑃𝑃𝑃𝑃𝑃𝑃𝑃𝑃𝑃𝑃    ( 𝑏𝑏)  2(𝑥𝑥 − 2)2 + 3     
 



 

 

Source: 2015 P1 Q4 Higher Maths 
 
(14) 

 
 
 
 
 
 
 
 
 
 
 

Answers:    𝑝𝑝 = 3,    𝑞𝑞 = 4,    𝑟𝑟 = 1  
 

 

 

Source: 2015 P1 Q5 Higher Maths 
 
(15) 

 
 
 
 
 
 

Answers:  (𝑎𝑎)  𝑔𝑔−1(𝑥𝑥) = 6−𝑥𝑥
2

    = 3 − 𝑥𝑥
2

       = 𝑥𝑥−6
−2

   

                  (𝑏𝑏) 𝑥𝑥 

 
 

 



Source: 2015 P2 Q2 Higher Maths 
 
(16) 

 
 
 
 
 
 
 

Answers:  (𝑎𝑎)10 + (1 + 𝑥𝑥)(3− 𝑥𝑥) + 2   (𝑏𝑏)  − 𝑥𝑥2 + 2𝑥𝑥 + 15  (𝑐𝑐)  5   & − 3 
 

Source: Specimen P1 Q8 Higher Maths 
 
(17) 

 
 
 
 
 
 
 
 

Answers:  (𝑎𝑎) 𝑃𝑃𝑃𝑃𝑃𝑃𝑃𝑃𝑃𝑃       (𝑏𝑏) 2(𝑥𝑥 − 2)2 − 3       (𝑐𝑐) (2,−3)    

                  (𝑑𝑑)  
 
 
 
 
 
 
 
 
 
 
 
 

 



 

Source: Exemplar P1 Q8 Higher Maths 
 
(18) 

 
 
 
 
 
 
 
 
 
 
 
 
 

Answers:   
(𝑎𝑎)                                                                      (𝑏𝑏) 

 

 

 

 

 

 

 
 


